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et & ferw srfeer /Instructions to the Candidates

1. 3T EaRT dd JHTdeel & & fohT 97T 3iel-ellgeT e & YR W 39l fof@d 9diem & forw
AT forar arar €1 afe 3met a9 7 el e Y orard wiafte Y B A e & 3R 3 iEd
el 8T T & ot 3ot efEiar sredied & o]

You have been called for the written test based on the online data furnished by you in the web application.

If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. GA-U, 80 Ut & bl WeeA-GReenT & 9 H § 3R gdieT @ @iy 02 6e ¥ |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test
is 02 hours.

3. TR Redl HRd TR SRR & T g e & Rt e SRR w9 F @ T |

The questions will be objective type with four options out of which only one will be unambiguously correct.
4, UAFH 9T & T 04 37 g7 3R I¥e eid 3cak & ToT Teh 3{h el SATeeT |

Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. 92l & Scck & & T gadr ufer |t 37erer SNTHIR SecR-gRedshr & Sesh|

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

PI.O,




10.

1.

12.

13.

14.

15.

HTERT, FecR-RecTeT 7 T 717 3reqeelt & 3R, Ael/arely T & sifer wige 9t & FNTAIR Seek-
QfEcTehT H HaTeleT 3idel &l 3ifehel o TET Seci &1 TAF HLAT o |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

T U257 & TN 37¥eh o< ITeld AT ST |

Multiple answers for a question will be regarded as wrong answer.

IW eV Sl & Jled yea-giEde Al Hig . AN ek gRden X Afdse wus «
orgar Tnfgy]

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

GRA-GECTeRT H JTTYRT ATH AT IHesheTeh Hel fordd |

Enter your Name and Roll Number correctly in the question booklet.

INTANR SecR-GiEcrent 7 Fefr ufafsear drefl/Frel Tt & aier arse 9 4 &1 1 ST =ifge)
All entries in the OMR answer sheet should be with blue/black ball point pen only.

o{TeTT gier & foraten T 3uftufa 7 € 3maent gia-fthe W gTare S g U]

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

forf@a adien Taetare &id & 3ex FAC, FIAFAC, AAE Dol GIT He SAFEIAF S,
UISY-Edh, AlE HTTE T Y AT ART 41 S|

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

IETr qot Blel WY, 3NUANR. Scck-9Rde &I IR & e fea § oS 3R Ao A
Sec-giedeht e s AT TUT g@ Ui 3 I W |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

SReA-GRECTRT 3782T 379t I TE W |

The question booklet can be retained by the candidates.

GBI & T T & GRTeT 39 R &1 TaTT giet oise &1 3TAf 7T ¢

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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9 H./POST NO.1371

ARR3T 7 g g9 T 327 FAT &/In a CRO what is the purpose of blanking circuit?

(@) &Y J[OTCT %l ST/ To increase visual quality

(b) Tl shT TEAT Y IS/ To increase number of channels

c) wfaLma ﬁwTUTgH T WELTe i faT:—lg’T\—f &h{a1/To eliminate display of retrace beam
(d) 3'q_{1_?'?|' H T 13 Y A8/ None of the above

TS YOIl &1 3aid Bl /s ¢ afE Faer @qe) yoy =172 &, o uroa @a fedan
gram?
Transfer function of a system is 1/s. If the input is y(t) = t*/2, what will be the obtained output?

@ 6t ®) t/6
@ P2

A Spring-Mass-Damper is a order system.
(@) Y/ Zero I (b)  SUA/First
©) Tsdia/Second (d) T/ Third

TS U & 37T arfaer Jomel & T oTeT &2

What is the advantage of pneumatic system over hydraulic system?

@ ITFA Hcﬁ?ﬂ?ﬂ YT Al §/Gases provide low compressibility

(b) 3T 3TF ANSIAT UGT AT &/Gases provide high compressibility
() &d3Td uIsddl RG] %/Liquid shows high compressibility

(d) SQ'I_E,EFH 7Y Elﬂ'é-’ &1 FAE1/None of the above
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Jelld 9arg & fv oafof@a # & sl iesd TE&AT (Re) F yaffica aar &2
Which of the following represents Reynolds number (Re) for laminar flow?

(a) 2300 ¥ FHH/Less than 2300 (b) 2300 <Re <4000

(¢) 4000 ¥ TITET/Greater than 4000 (d)  3Ieid/Infinite

fArfaf@d & @ #i9 g Rads & O e # e sar 2
Which of the following uses displacement to pressure conversion?

(a) TFelux FAleTel YOTTGI/F lapper nozzle system

(b) Ej'\UISf&:I'\':-?JTqT/Gyroscope

(€)  ITAITHMYI/ Viscometer

(d) B'Q‘{?f)ﬁ qE El'ﬁ'%’ ot F-I'ﬁ'/None of the above

U RONcAS GASROT Jomell & fow St =3 qor wa =2 § oo Fsds & oo ool
gfaeTar 100Q 81 38 For foeter gfcarer frae gefe

For a negative feedback system, G = 3 and H = 2 and output impedance without feedback is 100C.
What will be its total output impedance?

Forward Path
.

Cutput

%[ e

Input

_Summ mg
Pairt

Feedback Path

(@ 143 Q . (b) 700 Q
() 33.33Q ' (d 50Q

ArAfAf@a & & @i v du NS FE & Which of the following is not a valid BCD?

@ 0110 () 0111
¢ 1000 | @ 1010
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10.

11.

fArfafea & ¥ fraedl =9 guvor faee §
‘Which of the following have high propagation delay?

(a) W 13e/Synchronous counter

(b)y 3 d dlioleh GbI5C{/Asynchronous counter
(c) alell H FHIA ToROT Tdeie &/Both have same propagation delay

d) e H Hﬂj@j?-hﬂ ToRT faeid §/Both have unpredictable propagation delay

FSAT Tlelehdl &l THITG Ffole...... ©/SI unit of thermal conductivity is

(@) W/(mK) by W
© K d  W(mK)

T d9- Jgd AFd A FlA-H IHACT aREedr, Th 9w SUAUG. & AT &
3T & ATT dH-dilg JAT dlg-ad @Y & dg URT & Yaig & R d9 &
m&ﬁwam‘famﬂ?raﬁqafii?—rm%!

Which reversible phenomenon in a thermocouple device exhibits the absorption and liberation of
heat during flow of current through the two dissimilar copper-iron and iron-copper junctions under

the application of an external e.m.f?
(@) EIdh T3TE/Seebeck Effect
(b) UTeCT YaTd/Peltier Effect
(¢) s l;I'c“r:l;lil'/F.':l‘raday Effect

(d) Eﬂﬁ H O FIg 8y AE/None of the above
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12,

13:

14.

A QU T T H dlecHIcy & UISHS fhdeT g9 diecaed &7 df Thel 0-1 V aur
FHITT 20000 UV Tl

What would be the reading of voltmeter as shown in below figure. The voltmeter has a 0-1 V scale
and is a 20000 Q/V meter

(@) 04545V ° () 0.082V
€ 0.82V (d 454V

HAT GRHATIT TAT 90° el faFaIar & F Tagy aRad! fA7adl & @3msEt & g (X)
YT 1S (Y) Tolet # Y fRar S, ar gew gIa|

If two time varying signals of equal magnitudes and 90° phase displacement are applied to X and Y
plates of CRO, the display will be

(a) ek HILT X@T/a straight line (b)  Ueh dcd/a circle
(c) W?ﬂﬁﬁﬁr /an ellipse (d)  Ueh 3TATd/a rectangle

Ush UHARIR & Sardd & U9ld, 3R R TUE ol gl &1 Srar &, af Tadis arn

After firing an SCR, if the gate pulse is removed, the SCR current

(@) Tel WgIM/remains the same

(b) REITEA ST /reduces to zero

() 3&3fW/rises up

d) IS 361 o d1G R &1 SITUail/rises a little and then falls to Zero
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15.

16.

14,

U AR fE A gfEd 3EET gar 3R RIS e, alal B Mgl #Rar g,

An interrupt in which the external device supplies its address as well as the interrupt request, is

known as

(a) TS TG AUTA/A vectored interrupt
(b) WTBIET 3aRTI=T/Maskable interrupt

(c) dTel 3aRTI=/Polled interrupt

(d) 3TITBICd 3dRTIA/Non-maskable interrupt

T THIT TR SWT AT 13T dRI™T & RIER T RER T 3AH 6 oAl g1 3R
AR GaATedl 3eee 5dlee 9fd @A &, d ReR aur 3ReATy deedT ... gl

A sine waveform seen on a scope has peak to peak amplitude of 6cm. If the vertical sensitivity

setting is 5V/cm, the peak and rms voltages are

@ 30, 212 (b)  5,3.54
© 212,30 - @ 15,1061

Tl # T I0TH (BIH Hherex) HT Adold....... o T Ul &

The form factor in AC means the ratio of

(@) TRrErasaiaa HATeT/Peak value to average value

(b) RIEX AT T ARTHATY AA/Peak value to RMS value
(©) IRTATH AT ¥ 3 9d AF/RM.S. value to average value

(d) IRTATH AT F Rt ATA/R.M.S. value to peak value
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18. Udhel U-uTAUT AT yaties & ol disT 3NW-voady JHawor yatis &1 39T &

18.

20.

The main advantage in using a three OP-AMP instrumentation amplifier over a single OP-AMP

differential amplifier lies in

(a) HITHIR &l 3TTR HAT=T/Higher values of CMRR

() AR T/ Lower noise figure

(c) UfcRItE & TG HeT @I T 3796 8T TW@AT/Elimination of the need for accurate matching

of resistors

(d) oI HATIST ST Lol 0T/ Simplicity of gain adjustment

2 MHz 3% 3fOehdd 3gfca e arel Toh ffaater & gfaast fFar smer &1 7 Reeter

ol GARATHT TRl ST Wl § ARG =77 Tfaada & ... §

A signal having maximum frequency components upto 2 MHz is to be sampled. The original signal

can be reconstructed if the minimum sampling rate is

@@ 10° g ufa @W/samples/sec

(b) 2 x 10° gic=raa uia AFHUS/samples/sec
© 4 x10° yiama=a ufa AHhUS/samples/sec
d 1.5x10° qﬁ-’fﬂ?l?f gfer AehUS/samples/sec

Th IF H Sl Ig &l T@hdT ¢1/The ADC in an instrument could be

1. 3ccRical Gieelehc YahR/Successive approximate type
2. el WehR/Flash type

3. T8 &reT Y&R/Dual slope tfpe

gRade THT FTTHATT FH o & I/Increasing order of conversion time is
@ 1,2,3 "o 21,3
() 3,2,1 (d 3,1,2

1371



‘C3’ WISLT-ATUNRT T fg-3memdy f[wqor ... &

The binary representation of hexadecimal ‘C3’ is
(ay 1111 (b) 110011
() 111100 (d 11000011

Ueh &2 0T & 39T TFaT Felldl sl TE&AT ... gl

The number of flip flops required in a decade counter is

(@) 2 () 3
(c) 4 (d 10

T IHIRT THggER F IGT 0-10V &l 3R faaietel Smv 8, dr T wSr & foef &7

g&e HIaT]

An analog transducer has a range 0-10V. Calculate the bits of an ADC if the resolution is 5SmV

(@ 10

by 9

(c) 11

(d) W’éj’?ﬁ-[ p= s Ehél'éﬁﬁ Ae1/None of the above

Working principle of radiation pyrometer is based on the

(a) Tk Y3TTa/Seebeck effect

(b) TEhA-STecTde AIH/Stefan-Boltzman law
) dI [ATH/ Wien's law {

(d) TREE fA=A/Kirchoffs law
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29.

26.

21

28.

29.

sfea & rfAcaera woncHs dfey 3UTT &1 Adds ... YUTTell £l

A negative gain margin expressed in decibels means a system.

(a) TEWstable

(b) 37 &2 unstable

(c) Hitas &G 3raH e/ critically damped
(d BAHT ﬁé’ T 6 T/none of these

T 7 O Fla Ja &1 B ﬁg T8I &/Which of the following is not the triple point of water?

(@ 45°R ' (b)y 273°K
(c) 491.67°R (d  32°F

ot & & Fi v Tif® g9 Tgas acd A8 o7

Which of the following is not a mechanical pressure sensing element?

(a) SHMPIA/Diaphragm (b)  Selrd/Bellows
(c) aﬁﬁfﬂ\_q'/Bourdon tube (d)  J-<Id/U-tube

UoTdISIeT & YaTelel T TA€Id FaT §/What is the principle of operation of LVDT?

(a) 31T Yehcd/Mutual inductance ()  FaUhcd/Self-inductance
(c) FATRIca/Permanence @)  gfased/Reluctance

Prafaf@d & § Fi9 va Foerg A 78 &2
Which of the following is not a fundamental quantity?

(@) ol€TS/Length (b)  Scl/Force
() HHI/Time (d) SO gdT/Luminous intensity :
10
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30. WM&l dlecdl V& T UHh glewed faot, 9faU P, Q, R, S & ¥ iRy & a7 G
AedarAe fGar ar g1 9o & gares aRfeafa «ar &

Given a Wheatstone-bridge with external voltage V, Resistance Bridge with resistances P, Q, R, S,
and galvanometer G. What is the balancing condition of bridge?

(@) P/Q=S/R ' (by P/S=R/Q
(0 P=R/Q d S=RIQ

31. ¥gfed aur vl wgica & dw @Er @9y e 7 § Fi9 vt #xar ¥

Which of the following represents correct relationship between frequency and angular frequency?

(@ o=2xf (b) o=nuf
() f=2nw (d) f=nw |

32. TSR & fov fArAfaf@a & ¥ ST a1 alier 9= Srar §2
Which of the following method is employed for ADC?

(a) T W/Laddér network

(b) SecRlcaR AleeTehe TahTT/Successive approximation type
(c) tﬁ?@\@ UhR/PWM type

(d) 3'51'4_13-?[ H T Pz AT TS/ None of the above

33. Y &7 31T ¥ /TCP stands for

(@) call il WIeteniel/Tele Call Protocol

(b) CITEALST FErel Welshicl/ Transmission Control Protocol
(c) g’rﬁtﬁram I WIeIahiel/ Transmission Carry Protocol

(d) CITEAR dgter $RE Transmission Control Parity
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34.

35.

36.

3/

THANNTT &7 7Y %’ ........ /MOS stands for

(a) FHCIRIS TR AehsFe/Material Operating Semiconductor
(b) Heed 3ﬁ'ﬂ:ﬂ3§ TEThsFed/Metal Oxide Semiconductor

() Hed ATRIET ede/Metal Operating Segment

(d) 351'{13!-_(-!' "y Eﬁé ot a’-lﬁ/N one of the above

The power factor of ac circuit lies between

(@ 03R/and 1

() -1 3TR/and 1

(© 03/and -1

() 3UgeFd A { IS Y FE/None of the above

Teh 37TEeT 4RI 3edTH Hoo Eflal %‘/An ideal current source has:

(a) 3Td 3T UfcRIeInfinite Internal resistance

(b) T 37afes UfaRiel/Zero internal resistance

(¢ 100mQ 1 Hlﬁﬁ? gfdtT/Internal resistance of 100mQ
(d 100Q T TR 9faRIel/Internal resistance of 100Q

FArAT (F1geR) H 3UAET fFT SaTSt ST & pH AW ... g

The pH value of the water used in boiler is:

(@) BTg/Unity
by 7 y
(c) T H T hd/slightly less than seven

(d) TTT & 2UST FAET/slightly more than seven

12
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3B,

38.

40.

41,

foy@® dieedr Aasr Tase &ear § f...../Kirchoff’s voltage law states that
() TR AN GRT & el dlecdl aTd A IRIAT T &

The total voltage drop in a series circuit is always finite
(b) TR Fed SITel H emf TUT dleccl UTd T SIS Yo Bl &
The sum of emf and voltage drops in a closed mesh is zero
) T AT IRIT &H emf EBTEE'%]ET@?IT%’

The sum of emf in a series circuit is zero

(d) eTH A RIS o LT

None of these

Teh AR H AR Hohe ......... ©/The time base signal in a CRO is

(a) SATAhIT Yohd/a sinusoidal signal

(b) T I Hehl/a square wave signal

(c) 3R Thd/a sawtooth signal

(d) ﬁaam'{ TRT Tehcl/a triangular wave signal

U fohted elfeld 1 g&g oy I8 ¢ & 38 et (3mseqe) ... gl
The main advantage of a crystal oscillator is that its output is

@ R 3413‘.1'??{/21 constant frequency

by EEde ) :

(c) 50 Hz®/to 60 Hz

@) gRadf 3TIEI(:%—TN ariable frequency

f5Ema AT 22 —4x +8 =0 & HA H THR

Nature of the roots of the quadraﬁc equation x% — 4x + 8 = 0 is
(a) 3T=id/infinite

(b) &I GEYST aRFIfdeh Hel/two distinet real roots

(c) & HHA JEdidsh Hel/two equal real roots

(d) arafFas Hel/Two complex roots

13
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42.

43.

44,

45.

46.

47.

x & I sinx FT dHolal ..... &/Derivative of sin x with respect to x is

(a) cosecx (b) cosS x
(c) —cosecx (d) —C0S X

e #iz T guaT AfEad & v veadensag w15 . §
The ASCII Code is for information interchange by binary code for

(a) hdel G&AT/Numbers only

() Had a'ﬂﬁmFlT/AIphabets only

(c) 3TETRTRIRT TAT 3T ATHRUT Ucileh/Alpha numeric and other common symbols
(d) gmfr q ﬁ'é’ 3ﬂ sTe1/None of these

T IR foe F&ar & 1001 AT 9131 B 38 280 QW ......... 3

A four bit number is given as 1001. Its 2°s complement is

(@ 1001 () 1110
(cp 0110 (d 0111

4K T &1 o9 & AT seeas 9l fr @edm L §l

Number of bits needed to address 4K memory is

(@) 6 () 8
© 12 , (d 16

YT T RIRET & AT A ... FHgl SAar ol

A measure of the reproducibility of measurements is known as

(a) TATAAT/Accuracy ()  de®Id/Fidelity

(c) tlﬁ'?l@?—lT/Precision | (d fEIrs=/Resolution
AT, oo FT A FHT W thj-?\-'lt &/Siemens is a unit for measuring
(@) dTelehdl/Conductance (b) qfoRIt/Resistance

() WeldH "elcd/Flux density (d) ﬁl@ﬂ 819/Electric field
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48. dFeT ... &/A varactor is

49.

50.

51.

52.

(a)
(b)
(©)
(d)

qREd FUTRT F FT H qged STA1S/A diode used as a variable capacitor
3=d 997 Tadaa & fou aged 3TA8/A diode used for high speed switching
qRAAl Ok & & H qged STA1S/A diode used as a variable inductor
gt afoRies & ST 7 Ugerd 3IAIE/A diode used as a variable resistor

T3 Hiamsn 7 fafafed geu yads §

A dual-trace CRO has following main amplifiers

(@)
(b)
(©
(d)

Ueh FEATUR T Ueh &fcisT/One-vertical and one horizontal
ar FEanr AT T &fdsl/Two vertical and one horizontal
Teh FEATUR T &l &1fdsT/One vertical and two horizontal
T FEATER auT et &1fasT/Two vertical and two horizontal

faepfa gAY @1 9T ... & forT fRar SITaT §/Strain gauge is used :

(b)

(c)

Creiicy 3-1?_?1?”% O R BRI §dTAT SITAT 8/The rating of a battery is given by
(@ kW (b) kVA
(c) ﬁﬁq?JT-‘Ej'c."l"/Ampere-hours (d) VARQh

eaferen St 1 e St aRERT

To convert sound energy into electrical energy

ATHTT ST HAGeT et

To sense temperature

g GTRT Y i e & uRafia awa

To convert electrical current into a mechanical displacement
1T faTuras &I 9feRier & sgona & uRafda =

To convert mechanical displacement into a change in resistance

0.1 3 IR ....... SEee & @y ¥

An amplitude gain of 0.1 corresponds to decibels.
(@ 20 () -10
() 10 (d) 6

15
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53. meaﬂﬁ@n@ammsvﬁmmaﬁmmvﬁl:HTq?rﬁ

3maferer Jfe favce g2

Using a voltmeter, measured value is 24.3V, while its true value is 24V. What is the relative error of
measurement?

(@ 1.25% (by 1.2%

() 1.3% (d  1.4%

54. Teh FIAET YumTell 1 gAYe-33eYe NS A1 I/ §1 2’ & HAhd &F HI AMAT
Coy

Given input output characteristic of a typical system, name the region marked as “a’

output |

(@) Ta=fa & /Dead zone (b) W/Range
(c) 379dTg &F/Drift region (d) M/Threshold

55.

/

g Belod T fAwa sar %'fWhat does this function represent?

@ u(t) (b)  u(-2)
(€ u(t+2) d u=b)

A 16 1371



56.

57.

58.

59.

WHWMM%Wﬁmﬁﬁﬁﬁﬂﬁa—ﬁgﬁaﬁwmmm

Gehell 87

Which of the following devices can be used with both AC and DC?
(a) YITHTHEH/PMMC

(b)y el 'c:ﬁE' YhR/Moving iron type

() I iw—s'ﬁr YehR/Moving coil type

(d) 9UT Y&hR/Induction type

fAr=of@a & @ si9 v 31 sadARa yore i aRRUY FF HeRa war &2

Which of the following represent condition for an over-damped system?

(a) HAdHG HF_ID‘C{]H < 0/Damping ratio <0
(b) JgHSH 3114TcT = 0/Damping ratio = 0
() 3Ta¥FesT HeTdTel = 0.5/Damping ratio = 0.5

(d) 3dHCT 9T > 1/Damping ratio > 1

qUITRTEATY 3 o5 & Ui 3787 &1 .......... gl ST &

Axis of rotation of wheel in gyroscope is called

(a) SFIIShUT 3787/Spin axis - (b)  FEATER 3787/ Vertical axis
(c) &fast 3187/Horizontal axis (d)  PIUfrT 3187/Angular axis
Frfafea & @ =i9 v sy amr 7@ &

Which of the following is not a scalar quantity?

(@) <clId/Pressure (b)  HYelcd/Density

(c) del/Force (d) AT/ Viscosity

17
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60. UH A U dgFHST &9 & AT F a9 H HR A HEAT wA & faw
frifeiaa & feraesr suier frar srar €2

Which of the following is used to represent difference in pressure between absolute zero and
atmospheric pressure?

(a) T[=RYeT gr&/Absolute pressure

(b)  ITST &T9/Gauge pressure

) TIAEY ea/Differential pressure

(d) 3'51'4?33?[ p= e E#Ié 3fT 7181/ None of the above

61. x?>—8x+4+12 =0T &d...... &/Roots of x> — 8x + 12 = 0 are’

(a) 6: 2 (b) _69 _2

© 4,3 d  —6,278
62. 12,18,24 T TUAEIUH .......... 2/LCM of 12, 18, 24 is

(@) 12 by 72

(c) 144 (d) 36

63. i@ & & ohd Toh Jelfeld & 9 H UgeFd fhar ST HeheTl &2

Which of the following can be used as a comparator?

(a) S SRS/ Zener di(;de

(b) STIS/Diode

(c) TiRATCHS Ugeeh/Operational amplifier
(d) STUFT THVAL of the above

64. TSR & SuANST T 37T ... §/ENOB in ADC stand for

(a) ThaeIg X 31T @rgcH/Effective number of bytes
(b) THFEG a¥ 3HTH fcA/Effective number of bits
(c) THFeIT fAsael sis/Effective nibble baud

(d) 3UGerc 7§ IS #1 FEH/None of the above
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65.

66.

67.

68.

69.

g & O ol ve A5 H“fga?r fafer =181 &2
Which of the following is not a digital modulation method?

(a) UHTHSH/FSK ()  dITH/PSK
(c) TTH/ASK (d)  TTH/AM

frafaf@a & O 59 gazFer frect s &

Which of the following is known as equiripple filters?

(a) dfara fhee/Chebychey filter

(b) ST fhec/Bessel filter

() XY fheeX/Butterworth filter

(d) B'q?i'él?l' = ﬁ'é’ T Fl'e?f/N one of the above

SIEITHATS &7 37T B erereameme /DTMF stands for

(a) I ZH AIAfed Wiera=Ll/Dual Tone Magnetic Frequency

(b) TR FaAfeah Hiadgadl/Dither Tone Magnetic Frequency

(c) g3t 9 Fedl hiFaedl/Dual Tone multi Frequency

(d) ZI3rer T Ahlfaichel WIFa=d1/Dual Tone Mechanical F requéncy

IRAT Fell RAEAUa-alfo &, v 3IR-4r Acas ... el TATAT Ye=T HLar ¢l

In RC phase shift oscillator, one R-C network provides phase shift.
@ 30° ' ®  60°
© 90° @  180°

10~ TATASR &% & S5 F# a@ F A 57 B8 TR F1 AT TTF T ST &
Which type of gauge is used for the measurement of very low value of vacuum of the order of
10~* millibar?

() TFAYE Tﬂ'\H'/ComRound Pressure gauge
(b) A9-YIH g131'/Thf:rmo-couple gauge

(¢) TR AST/Pirani gauge

(d) dis+T AT/Bourdon gauge
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70.

71.

72.

73.

The accuracy of an instrument is determined by

(a) IEAGF AT H\ﬁl?l' HT T TleeTohedl/closeness of indicated value to the actual value
(b) AT AT Hr WﬁFﬂ'ﬂﬁT/repeatability of measured value

(c) HAaH A dH qredTeh & ti%:?l?\f T 3T/ speed with which the reading approaches final value
(d) FT fopu ST=AaTer TgAdH HATe/least value which can be measured

U {ad TJameT H . emferer §/A microprocessor consists of

() 3K T YfAT (TTer)/Arithmetic Logic Unit (ALU)
(b) ITSTEC/Registers

) fEgsor Ilﬁ'cf/ Control Unit

(d) 3Tk HeMAL the above

T Fl ... T IROT fRAT ST &/A woofer should be fed from

(a) =T U fheed/low pass filter
(b) JI=d YR ﬁﬁ?/high pass filter
(©) 3% YR® fhee/band pass filter
d) dSTAHR ﬁ'z_&ﬁ/band stop filter

10 em Bl A el Ueh 3ed 3Efed W3RN & FAIAUR A 10 p Ak gfy
VeI W e T7ar a1 §| O R AT &7 § TGRid ~e1ad I ..., gl

The time base of a high frequency CRO whose screen diameter is 10 cm is set at 10 p sec/cm. The
lowest frequency which can be fully displayed on the screen is

(a) 100 kHz & $a1GI/more than 100 kHz
(b) 100 kHz & HAT/equal to 100 kHz
(c) 10 kHz % AT /equal to 10 kHz

(d) 10 kHz & &#/less than 10 kHz
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74.

75.

76.

Tk AesT gdieTor & ... ' %Fg Uk d fpar Srar §/Dye Penetration Test is used

() WW%Q@%W%H g QT & AT
to measure the viscosity of used oil to detect its usage

(b) TcTel AH IR T IdT e9T=1/to find out surface hair cracks
(c) HEr URTSAT T IdT SI9Me1/to find out the surface finish
(d) TS H B T ATHT Y UAT oelel/to detect ferrous content in grease

STRAT 3MTEaTATdT...... & A RAga | F19 T &

Capacitive Hygrometer works on the principle of measurement of

(a) T AT & ToTE H Tolc o &7 & IR & HROT enfar

capacitance due to change in the area of the plate due to absorption of moisture
(b) TUSYATE H YR & HROT eTiar

capacitance due to change of dielectric constant

(c) STHI & HIUIT & Foig A FUTRT Tole & 9T & 3cRTel & YRGS & HRoT ariar

capacitance due to change in the gap between the condenser plate due to absorption of the

moisture
(@) IEFTEN
All of the above

T I AET UNT WG F AIA @ IR UF SUiRT Y 3mRg kA omar & oar

If a capacitor is charged by a square wave current sourcé, the voltage across the capacitor is
(a) GEl Fl'\i?T/é square wave |

(b) TSt RAT/triangular wave

() @I Fele/step function

(d) [=T/zero
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I7.

78.

79

Ush Uhd TIG H oo &/A single pulse has

(b) -

(d)

Uehel 3ﬂ§[ﬁﬁ T¢ah/Single frequency component

R Hl?g_% ATATIAT/Continuous frequency spectrum
TH gIcHS AlATGl/ Spectrum of even harmonics
TAYH gD AlATdell/Spectrum of odd harmonics

FI-HCT & FaTeleT HT [HGId..... T AR §

The principle of operation of Q-meter is based-on

(@)
(b)
(c)
()

T Uehed/Self inductance
A= Wehed/Mutual inductance
Sofy 3iefsIIG/Series resonance
AR 3iel=i1¢/Parallel resonance

Wa??rtrwé.zoat#%iUﬁﬁﬁ%ﬂ?ﬁﬂtﬁﬁé%@ﬁ%ﬂﬂﬂﬂmaﬁwm

A clock shows a time 06.20 hr. The measure of the angle ideally between the hour and minute
needles of a clock is

(@ 70° ()  60°
(¢ 10° @ 90°

50 BTAT HT T FHBIT H, YT 37 &/In a class of 50 students, the marks obtained are

3T/ Marks 5115 |25 |35 |45

STAT Sl TEAT/No. of students

7RI FTET RRcialT &/ What is the mean?

/

(@ 25 (b) 29
© 26 d 28

22 1371



